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type payType = (Salaried, Hourly); VA =il
var Employee:record N
ID: inieger; e
Dept:acray [1..3] of char; c
Age: injeger; TP -2

Case Payclass: payType of
Salaried: (MonthiyRate: real; StarDate: integer);

end
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type Vectl:array[100 10] of real;
Vect2:array[100 10] of real;
Var X ,Z: Vectl; Y: Vect;
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Program Maim;
var K: integer,

Procedure XYZ (i, j: inieger);
var K: integer:

begin
i: 300; K: =2,
if i=j thenj: =i*k+;
end
begin
K=100;
XYZ(kk)
Write (k)
end;
call by name Call by reference call by value — result call by value
900 900 900 100 —ll
6 900 | 100 300 -
900 ‘ 100 100 i
g00 900 100 100 -4

Procedure R; Ty e =l

: AR S U SR
end,;

ﬁ'ﬂ‘:ﬂ-dum Q; b R ~E
Var x:integer:=30, YN XYY -
begin
write(x);
R;
H=x+1;
Write(x);
end;
Procedure P;
Q;
Q;
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case Tag is ; (8523 1/O)
when 0=> begin
statementy
end;
when 1=> begin
statement,
end;
when 2=> begin
staternent;
end;
when others => begin
slatement;
end;
end case

(53a3 1/0)9 dasuss 53 5UD2 .sUb] main gl 1, nonLocal Local plal sl buas 5 4388 B 50y ) wlin =Y
Program main;
var A, B, Cireal;
procedure Subl({A:real);
var [D: real;
procedure Sub2(C:real);
var D: real;
begin
- Statements
C:=C+B;
- Statements
end;
begin
- Statements
SubZ(B);
- Statements
end; if
begin
- Statements
Subl{A);
- Statements
end.
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program Main;
var X: integey; Q Slealsi 51 U5 P glsal -
procedure Q(var i:integer; function R(J:integer):integer); R Slsalsi 3 6 Q slal—¢

var X: integer;
begin
X:=4,
write("in Q, before call of R, i=", 1, "X=",X);
i:R();
write("in Q, after of R, 1=", i, "X=",X)
end;
procedure P,
var i:integer;
function FN(K:integer): inieger;

S s 1, FV Q=

begin;
X:=X+K; 5
FN:=i+K;
write("in P,i="i,"K="K.,"X=" X}
end
begin
i:=2:
Q(X,FN);
write("in P,i=",1,"X=",X)
end;
begin
xX=7
P;
write("in main, X=",X)
end;
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